T ERTER (401)

T=H4 | Refit EEll - E EEdlrE (1) GEOFREm) FEXS AT HERE - (&8
THEXS )&
TEHX Sy - TFE - FERI - 5] ks BT o (il Y (AR Tk T 2
TAT) 1 E ot
= 1
LT
= 1
PEHI T
=; 1
P A W, i T 5E A7 vy b, Rt
L, BESE ML, i T35, 000m3
i m3 650
T
= 1
AR (BEEE) B 1 e LIS B 2 2. SmATH
m3 240
PP T
= 1
DA B CEBl- ERIRY L&)
G- tLES)
m3 380
L ERERX 7y R AT oL
CCRiie )
m3 380
S an
= 1
THHERKT
(R &)
= 1
- T I




=

=Ry

=Y

RfEZR (AN01)

1. = I=EN;
T=H4 | Refit EEll - E EEdlrE (1) GEOFREm) FEXS AT HERE - (&8
THEXS )&
THFXSy - TFE - FER - A5 ks BT o (il HE (5E) B T 2
TEMERELE it THE & : 4. omPh
Gaiy
(LwEmRET) m3 400
THEMEREL
e
(b - & Te) m3 400
TR AT HIRS 122 X 1, 524 X 3, 048 (mm) , 1E
(i f 1[m]) X5y BRE i E
m2 125
R A B A AR - i
] 1
K T
= 1
B R VIV ¢ 600, —EEAEIE, AR
(FRE - 2= - )
(G ME)) m 24
VGBS 1E T
= 1
VBB 1724 VR 4y g - S
m 20
ARIEEHT
=; 1
RIE G B B
AH 20
A7) 1| e
= 1
9 T I




T ERTER (401)

THE4 | Reflit W 2. B WEEAITE (1) VTR FHEN Sy A7) A4 - 1
THXSy 7)1 ey
THX 5y - AR - R - A5 Bikk HLAZ ¥ (mifal) e (4m) KR e
@Rk E T
= 1
B A 1
= 1
BAREMIHAL S - B8 (b = V-0)
m 20
BRE T
= 1
EEBABRE T
= 1
EBIERE (HS)
m2 2, 500
T (BB )
Fm2 2.5
BRELALSy
t 7.5
el T
= 1
RARBRIR T
= 1
A - AT (1 E) B - DX Sy A K O L
ENS P ¥ NONV) HRE D) > 100

=N

i



1.5

=

-

=Ry

it fEae (AN01)

TH4 | Ref: REMI - E JEES T (1) GROPHRE) FHEN Sy A7) A4 - 1
THXSy 7)1 ey
THX 5y - AR - R - A5 Biks HAL ¥ (mifal) i (4D KR e
LA
m3 1
syt
t 10
BB T H
= 1
i@ R
= 1
i ik 2
= 1
Y
= 1
A T2 kAR
t 21. 65
R (FE )
= 1
il T
= 1
U5 B
= 1
LU
= 1

=N

=




T ERTER (401)

TH4 | Ref: REMI - E JEES T (1) GROPHRE) FHEN Sy A7) A4 - 1
THEXSy 7)1 ey
THX 5y - AR - R - A5 Biks HAL ¥ (mifal) i (4D KR e

— A P

= 1
TS

= 1
THEBIRE K O 5 1 e B

= 1
TH2E

= 1

=N

i



